K X F =

=N

=

( BF3E4AA 1B LS TIAE3SHASIHET)

(Efr:[M)
e H F B & HI4EEE T EAR ¥
I —RIEBRRAPEHE IR O
1 REHEBOE
(1) BHEINLE
EAMEERL 1,000 1,000 0
EARMESBFLE 1,000 1,000 0
FRINE 123,000 132,000 A 9,000
FHEE N 60,000 75,000 A 15,000
AR EF LR 63,000 57,000 6,000
=B 3,476,000 3,512,000 A 36,000
RBas 2,780,000 2,810,000 A 30,000
EELERE 696,000 702,000 A 6,000
e divei ke 299,000 299,000 0
THRRMEES 299,000 299,000 0
ZhaEe 7,000,000 7,340,000 A 340,000
BEXAHES 7,000,000 7,340,000 A 340,000
e 2% 70,000 69,000 1,000
= B E 1,000 1,000 0
MEUNZE 69,000 68,000 1,000
TR B I A8 7 10,969,000 11,353,000 A 384,000
(2) BREEH
EXEE 9,101,000 9,220,000 A 119,000
SHBE 0 0 0
REZEE 43,000 43,000 0
BiE ERE 33,000 30,000 3,000
HEEmE 88,000 54,000 34,000
Fl A% 50,000 60,000 A 10,000
KBEREE 3,300,000 3,358,000 A 58,000
EEE 3,800,000 3,776,000 24,000
e 217,000 217,000 0
XhEHE 1,560,000 1,672,000 A 112,000
M 10,000 10,000 0
EHE 2,260,000 2,520,000 A 260,000
EmE 0 0 0




# H T B B HIEE TR MW
REZEE 280,000 343,000 A 63,000
W ERE 30,000 30,000 0
HFEmE 43,000 50,000 A 7,000
Flm S A2 0 0 0
={i-Tis 14,000 14,000 0
MBAR 100,000 100,000 0
EHe 0 0 0
XHBEHEE 1,743,000 1,912,000 A 169,000
HE 50,000 71,000 A 21,000
TR B A E 11,361,000 11,740,000 A 379,000
= SR AR A 392,000 A\ 387,000 A 5,000
2 BEIEROH
(1) BHEIMNZE
IR B 0 0 0
(2) BREAEH
eE B R 0 0 0
LU HIRE S AR
L HA— AR SR A 2 HE AR A 392,000 A\ 387,000 A 5,000
—RERMERERS 6,168,052 7,112,809 A\ 944,757
— X IEPR R EE IR AR S 5,776,052 6,725,809 A\ 949,757
O REERMERBOL
U AR E IR bR B P HE A
REEERMEMNERS
fEEEWRMEMEER 0 0 0
I ERMEHRES 5,776,052 6,725,809 A 949,757




